
gastroparts@gastroparts.com

+48 56 657 00 66

fb.com/gastroparts.global

GASTROPARTS.COM

Geräte

Aparatos

Équipement

Attrezzature

Urządzenia

Оборудование

[EN]

[DE]

[ES]

[FR]

[IT]

[PL]

[RU]

Equipment

La-Rocca

mailto:gastroparts@gastroparts.com
https://fb.com/gastroparts.global
https://gastroparts.com/


3Find the complete and up-to-date range of products on https://gastroparts.com

1

el
ec

tr
ic

 c
om

po
ne

nt
s

heating elements
heating elements for coffee machine

1

Part No. 417531 Ref. No.
10202   
10222

description
heating element  1700W 240V heating circuits 1 mounting ø 37mm 
hole distance 52mm L 130mm W 40mm H 40mm hole ø 10mm tube 
ø 10mm connection M4

1

Part No. 417495 Ref. No. 10221

description

heating element  1800W 245V heating circuits 1 mounting ø 37mm 
hole distance 51.5mm L 133mm W 35mm H 36mm hole ø 10mm tube 
ø 8mm connection male faston 6.3mm immersion heater 3 hole flange

1

Part No. 417496 Ref. No. 10203

description

heating element  2600W 220V heating circuits 2 mounting ø 37mm 
hole distance 52mm L 415mm W 30mm H 58mm L1 25mm L2 50mm 
L3 340mm H1 25mm H2 28mm hole ø 10mm tube ø 8mm connection 
male faston 6.3mm immersion heater

1

Part No. 417497 Ref. No. 10218

description

heating element  3500W 245V heating circuits 2 mounting ø 37mm 
hole distance 51.5mm L 413mm W 28mm H 63mm L1 24mm L2 
44mm L3 345mm H1 25mm H2 38mm hole ø 10mm tube ø 8mm 
connection male faston 6.3mm immersion heater 3 hole flange

thermostats
bi-metal thermostats

safety bi-metal thermostats

1

Part No. 376003 Ref. No. 27104

description
bi-metal safety thermostat  hole distancemm switch-off temp. 165°C 
1NC 1-pole 10A 250V connection F6.3

bi-metal thermostats

1

Part No. 376002 Ref. No. 27103

description
bi-metal thermostat  hole distancemm switch-off temp. 120°C 1NC 
1-pole 10A 250V connection F6.3

switches and momentary switches
rocker/momentary rocker switches

30x22mm

1

Part No. 301060 Ref. No. 12120

description
rocker switch  mounting measurements 30x22mm red 2NO 250V 16A 
illuminated connection male faston 6.3mm ambient temperature max. 
125/55°C protection IP40

rotary switches

GOTTAK

1

Part No. 345148 Ref. No. 12188

description
rotary switch  3 0-1-2 sets of contacts 6 type 4RH 400V 10A shaft ø 
4.8x6mm shaft L 21mm shaft oval connection male faston 6.3mm

miscellaneous

1

Part No. 347421 Ref. No. 15126

description rotary switch  with cable harness 2 groups ESTRELLA

lamps
indicator lights

indicator lights (complete)

ø 8mm

1

Part No. 357027 Ref. No. 15040

description indicator light  ø 8mm 230V green cable length 180mm LED

LA-ROCCA HEATING ELEMENTS/THERMOSTATS/SWITCHES AND MOMENTARY SWITCHES/LAMPS

https://gastroparts.com/en/item/heating-element-1700w-240v-heating-circu-417531
https://gastroparts.com/en/item/heating-element-2600w-220v-heating-circu-417496
https://gastroparts.com/en/item/rocker-switch-mounting-measurements-30x2-301060
https://gastroparts.com/en/item/rotary-switch-3-0-1-2-sets-of-contacts-6-345148


4 Find the complete and up-to-date range of products on https://gastroparts.com

1

el
ec

tr
ic

 c
om

po
ne

nt
s

1

Part No. 357026 Ref. No. 15041

description indicator light  ø 8mm 230V red cable length 180mm LED

ø13mm

with plug-in socket

1

Part No. 359142 Ref. No. 12129

description
indicator light  ø 13mm green 230V connection male faston 6.3mm 
temp.-resist. 120°C Qty 1 pcs

1

Part No. 359141 Ref. No. 12111

description
indicator light  ø 13mm red 230V connection male faston 6.3mm 
temp.-resist. 120°C Qty 1 pcs

relays
level relays

GICAR

1

Part No. 402103 Ref. No. 12168

description
level controller  230/240V voltage AC 50/60Hz connection F6.3 type 
NRL30/1E-2C/F

1

Part No. 402790 Ref. No. 13245

description
level controller  230V voltage AC 50/60Hz type RL30/2E-2C/F T.O. 
Pompa 3 LED

electronics
central units

1

Part No. 402794 Ref. No. 13207

description central unit  230V 50/60Hz type 3d5 Maestro 2GRCTZD voltage AC

1

Part No. 402795 Ref. No. 13208

description central unit  230V 50/60Hz type 3d5 Maestro 3GRCTZD voltage AC

1

Part No. 402792 Ref. No. 12186

description central unit  230V 50/60Hz type ET405 voltage AC

1

Part No. 402793 Ref. No. 13238

description central unit  240V 50/60Hz type 3d5 3GRCTZ XLC „LL“ (SC) voltage AC

ROCCA

https://gastroparts.com/en/item/indicator-light-o-13mm-green-230v-connec-359142
https://gastroparts.com/en/item/indicator-light-o-13mm-red-230v-connecti-359141
https://gastroparts.com/en/item/level-controller-230-240v-voltage-ac-50-402103
https://gastroparts.com/en/item/level-controller-230v-voltage-ac-50-60hz-402790
https://gastroparts.com/en/item/central-unit-230v-voltage-ac-type-3d5-ma-402794
https://gastroparts.com/en/item/central-unit-230v-voltage-ac-type-3d5-ma-402795


5Find the complete and up-to-date range of products on https://gastroparts.com

1

el
ec

tr
ic

 c
om

po
ne

nt
s

1

Part No. 400520 Ref. No. 12185

description control box  2-group for coffee machine 230V type ET405

1

Part No. 402791 Ref. No. 13228

description
level controller  230V 50/60Hz type 30 MICRO ST + BUZZER voltage 
AC

keypads
keypad units

1

Part No. 402788 Ref. No. 12189

description keypad unit  buttons 5 black/white edition 1998 lighting LED

1

Part No. 402785 Ref. No. 13240

description keypad unit  buttons 6 black/white

1

Part No. 402789 Ref. No. 13233

description keypad unit  ESTRELLA buttons 6 chrome/black/white

solenoid valves
solenoid valves (water)

metal

ODE

solenoid valves steam (water)

212A series

1

Part No. 370617 Ref. No. 13216

description
solenoid valve  brass 2-ways 230VAC connection cable L 46mm DN 
4.5mm ODE type series 212A5 coil type B01 p max 5bar p min 0bar 
50/60Hz

1

Part No. 370719 Ref. No. 13216

description
solenoid valve  brass 2-ways 230VAC connection female faston 
6.3mm L 46mm DN 4.5mm ODE coil type BDA p max 5bar 50Hz cable 
length 380mm

1

Part No. 370687 Ref. No. 13216

description
solenoid valve  brass 2-ways 240VAC connection plug-in connection L 
46mm DN 4.5mm ODE coil type BDA p max 5bar 50Hz

electrodes

1

Part No. 401162 Ref. No. 12142

description
level electrode  1/4“ total length 129mm probe L 103mm insulated 
probe length 26mm connection male faston 6.3mm stainless steel ø 
2.5mm

LA-ROCCA ELECTRONICS/KEYPADS/SOLENOID VALVES/ELECTRODES

https://gastroparts.com/en/item/coffee-machine-control-unit-et405-230v-400520
https://gastroparts.com/en/item/level-controller-230v-voltage-ac-type-30-402791
https://gastroparts.com/en/item/led-pushbutton-panel-5-buttons-black-whi-402788
https://gastroparts.com/en/item/keypad-unit-buttons-6-black-white-402785
https://gastroparts.com/en/item/keypad-unit-estrella-buttons-6-chrome-bl-402789
https://gastroparts.com/en/item/solenoid-valve-brass-2-ways-230vac-conne-370617
https://gastroparts.com/en/item/solenoid-valve-brass-2-ways-230-vac-conn-370719
https://gastroparts.com/en/item/solenoid-valve-brass-2-ways-240vac-conne-370687
https://gastroparts.com/en/item/level-electrode-1-4-total-length-129mm-401162


6 Find the complete and up-to-date range of products on https://gastroparts.com

1

m
ec

ha
ni

ca
l c

om
po

ne
nt

s,
 

eq
ui

pm
en

t a
cc

es
so

rie
s

equipment-specific units
for espresso machines

filter holders

filter holders standard

filter holder without spout

1

Part No. 531027 Ref. No. N/A

description
filter holder  suitable for LA ROCCA without outlet mounting ø 83mm 
hole ø 8mm outlet 3/8“ ID ø 62mm wedge hight 10mm wedge position 
horizontal number of wedges 2 lever straight chrome-plated brass

filter holders short

1

Part No. 531024 Ref. No. 12607

description
filter holder  mounting ø 83mm outlet 3/8“ ID ø 62mm handle 
M12x1.75 wedge hight 10mm wedge position horizontal number of 
wedges 2 lever straight chrome-plated brass

filters

for 1 cup

1

Part No. 531023 Ref. No. 12502

description
coffee filter  ø 70mm mounting ø 60mm H 24.5mm cups 1 amount of 
coffee 8g perforation ø 0.35mm

for 2 cups

1

Part No. 526068 Ref. No. 12500

description
coffee filter  ø 70mm mounting ø 60mm H 24.5mm cups 2 amount of 
coffee 14g

blind filters

1

Part No. 529102 Ref. No. 12510

description blind filter  ø 70mm mounting ø 60mm H 17mm

brewing units

shower screens

with upstand and central hole

1

Part No. 531022 Ref. No. 11363

description shower screen  ø 55/56mm H 9mm hole ø 5mm

filter holder gaskets

flat

with chamfer

1

Part No. 525497 Ref. No. 14455

description filter holder gasket  D1 ø 72.5mm D2 ø 47.5mm H 8.1mm

shim gaskets

1

Part No. 531026 Ref. No. 12198

description shim gasket  D1 ø 72mm D2 ø 48mm thickness 1mm steel

components

nozzles

bushes

1

Part No. 528321 Ref. No. 11336

description filter support  D1 ø 13mm ID ø 5mm int. ø 1 11mm H 9mm brass

EQUIPMENT-SPECIFIC UNITS LA-ROCCA

https://gastroparts.com/en/item/filter-holder-mounting-o-83mm-outlet-3-8-531024
https://gastroparts.com/en/item/strainer-double-group-14g-dia-70mm-clamp-526068
https://gastroparts.com/en/item/blind-filter-o-70mm-mounting-o-60mm-h-17-529102
https://gastroparts.com/en/item/filter-holder-gasket-d1-o-72-5mm-d2-o-47-525497
https://gastroparts.com/en/item/filter-support-d1-o-13mm-id-o-5mm-int-o-528321


7Find the complete and up-to-date range of products on https://gastroparts.com

1

m
ec

ha
ni

ca
l c

om
po

ne
nt

s,
 

eq
ui

pm
en

t a
cc

es
so

rie
s

with thread

1

Part No. 525892 Ref. No. 11323

description nozzle  bore ø 0.65mm thread M6x0.75 L 9mm

safety valves

safety valves

3/8”

1

Part No. 531003 Ref. No.
10414   
10415

description
safety valve  connection 3/8“ triggering pressurebar suitable for LA 
ROCCA sealed

expansion valves

gaskets

1

Part No. 525822 Ref. No. 10813

description gasket  ED ø 15mm seat ø 6mm H 5.2mm overall height 10mm

1

Part No. 525894 Ref. No. 14406

description sealing disc  ED ø 15mm H 4mm

compression springs

1

Part No. 531002 Ref. No. 10806

description
compression spring  ø 14.7mm L 26mm wire gauge ø 2mm windings 
3.5

with non-return valve

1

Part No. 531006 Ref. No. 00120

description expansion valve  with non-return valve

aerators and air bleeders

1

Part No. 529304 Ref. No. 00143

description aerator and air bleeder  screw connection 1/4“

steam/water taps

steam/water taps

steam taps

steam taps (complete)

1

Part No. 531010 Ref. No. 11182

description steam tap  inlet 1/4“ suitable for LA ROCCA tube ø 10mm

1

Part No. 531008 Ref. No. 11136

description steam tap  with pipe inlet 1/4“ tube ø 10mm

knobs

1

Part No. 111392 Ref. No. 11610

description knob  steam ø 54mm shaft ø 8mm black for VERONA

LA-ROCCA EQUIPMENT-SPECIFIC UNITS

https://gastroparts.com/en/item/nozzle-bore-o-0-65mm-thread-m6x0-75-l-9m-525892
https://gastroparts.com/en/item/safety-valve-connection-3-8-suitable-fo-531003
https://gastroparts.com/en/item/gasket-ed-o-15mm-seat-o-6mm-h-5-2mm-over-525822
https://gastroparts.com/en/item/expansion-valve-with-non-return-valve-531006
https://gastroparts.com/en/item/cimbali-aerator-and-air-bleeder-screw-co-529304
https://gastroparts.com/en/item/steam-tap-with-pipe-inlet-1-4-tube-o-10-531008
https://gastroparts.com/en/item/knob-steam-o-54mm-shaft-o-8mm-black-for-111392


8 Find the complete and up-to-date range of products on https://gastroparts.com

1

m
ec

ha
ni

ca
l c

om
po

ne
nt

s,
 

eq
ui

pm
en

t a
cc

es
so

rie
s

components

gaskets

1

Part No. 525895 Ref. No. 10810

description gasket  D1 ø 13mm ID ø 4.5mm thickness 4mm NBR

1

Part No. 525896 Ref. No. 14466

description gasket  D1 ø 15mm ID ø 4mm thickness 4mm Viton

1

Part No. 525893 Ref. No. 14464

description gasket  D1 ø 15mm thickness 8mm since 2004

spring guides

1

Part No. 531005 Ref. No. 11175

description
spring guide  for steam-/water-tap D1 ø 14.5mm D2 ø 9mm ID ø 7mm 
L 6.5mm

springs

1

Part No. 525994 Ref. No. 11183

description
compression spring  ø 12mm L 21mm wire gauge ø 1.3mm windings 
3.5 steel

water taps

knobs

1

Part No. 111394 Ref. No. 11609

description knob  water ø 54mm black

water taps

1

Part No. 531007 Ref. No. 11137

description water tap  with pipe inlet 1/4“ tube ø 12mm

steam/water pipes

steam pipes

1

Part No. 531013 Ref. No. 11181

description steam pipe  H 145mm L 165mm ø 14mm tube ø 10mm

1

Part No. 531015 Ref. No. 11187

description
steam pipe  H 165mm L 200mm ø 14mm tube ø 10mm VERONA 
suitable for LA ROCCA

1

Part No. 531014 Ref. No. 11191

description
steam pipe  H 170mm L 190mm ø 13.5mm tube ø 10mm suitable for 
LA ROCCA

nozzles for steam pipes

1

Part No. 531020 Ref. No. 11207

description
steam nozzle  thread M10x1 ø 16mm L 28mm thread L 13mm 4 holes 
bore ø 1.5mm stainless steel

EQUIPMENT-SPECIFIC UNITS LA-ROCCA

https://gastroparts.com/en/item/gasket-d1-o-15mm-id-o-4mm-thickness-4mm-525896
https://gastroparts.com/en/item/knob-water-o-54mm-black-111394
https://gastroparts.com/en/item/steam-nozzle-thread-m10x1-o-16mm-l-28mm-531020


9Find the complete and up-to-date range of products on https://gastroparts.com

1

m
ec

ha
ni

ca
l c

om
po

ne
nt

s,
 

eq
ui

pm
en

t a
cc

es
so

rie
s

nozzles for water pipes

tap aerators

1

Part No. 548385 Ref. No. 11128

description tap aerator  thread M22x1 with plastic insert at 3bar ca.44l/min

accessories

bushes

1

Part No. 525898 Ref. No. 11149

description bush  D1 ø 14mm D2 ø 7mm int. ø 1 5.5mm H 5.5mm brass

1

Part No. 525897 Ref. No. 14461

description bush  D1 ø 15mm int. ø 1 8mm H 12.8mm Viton gasket

gaskets

1

Part No. 531019 Ref. No. 11147

description
gasket  PTFE D1 ø 15mm D2 ø 11.2mm thickness 3mm inner cone for 
steam pipe

springs

1

Part No. 531001 Ref. No. 11142

description
compression spring  ø 10.7mm L 25.5mm wire gauge ø 1.6mm 
windings 5

tube handles

1

Part No. 525042 Ref. No. 11208

description tube handle  for pipe ø 10mm ø 13.5mm L 50mm rubber

union nuts

1

Part No. 531004 Ref. No.
11148   
11171

description union nut  thread 3/8“ L 35.1mm hole ø 12.3mm chrome-plated brass

fine filters

holders

1

Part No. 528321 Ref. No. 11336

description filter support  D1 ø 13mm ID ø 5mm int. ø 1 11mm H 9mm brass

fine filters

1

Part No. 529911 Ref. No. 11337

description fine filter  flat ø 11mm H 0.25mm

intake valves

intake valves

1

Part No. 531009 Ref. No. 10807

description intake valve  for LA ROCCA

accessories

springs

1

Part No. 531000 Ref. No. 10814

description compression spring  ø 15mm L 26mm wire gauge ø 2mm

LA-ROCCA EQUIPMENT-SPECIFIC UNITS

https://gastroparts.com/en/item/bushing-height-12-8mm-inner-diameter-8mm-525897
https://gastroparts.com/en/item/tube-handle-for-pipe-o-10mm-o-13-5mm-l-5-525042
https://gastroparts.com/en/item/union-nut-thread-3-8-l-35-1mm-hole-o-12-531004
https://gastroparts.com/en/item/filter-support-d1-o-13mm-id-o-5mm-int-o-528321
https://gastroparts.com/en/item/fine-filter-flat-o-11mm-h-0-25mm-529911
https://gastroparts.com/en/item/intake-valve-for-la-rocca-531009


10 Find the complete and up-to-date range of products on https://gastroparts.com

1

m
ec

ha
ni

ca
l c

om
po

ne
nt

s,
 

eq
ui

pm
en

t a
cc

es
so

rie
s

level glasses

level glasses

level glasses (complete)

1

Part No. 531011 Ref. No. 00122

description level glass  suitable for LA ROCCA

level glass pipes

1

Part No. 531016 Ref. No. 11005

description water level tube  ø 11mm H 145mm ID ø 8mm

non-return valves

compression springs

1

Part No. 525499 Ref. No. 10815

description
compression spring  ø 8mm L 31.5mm wire gauge ø 0.5mm windings 
10

1

Part No. 525498 Ref. No. 10804

description
compression spring  ø 8mm L 34mm wire gauge ø 0.4mm windings 
10.5

pistons

1

Part No. 531018 Ref. No. 10822

description piston  triangle ø 13mm L 19.6mm

balls

1

Part No. 528419 Ref. No. 10803

description ball  ø 11mm SS

knobs
steam/water taps

steam/water taps

1

Part No. 111392 Ref. No. 11610

description knob  steam ø 54mm shaft ø 8mm black for VERONA

handles and hand wheels
cone handles

1

Part No. 111393 Ref. No.
11613 + 

11614   11617

description handle  thread M10x1.5 ø 27.5mm L 38mm black matt

lever handles

1

Part No. 111393 Ref. No.
11613 + 

11614   11617

description handle  thread M10x1.5 ø 27.5mm L 38mm black matt

OCCA

https://gastroparts.com/en/item/compression-spring-o-8mm-l-31-5mm-wire-g-525499
https://gastroparts.com/en/item/compression-spring-o-8mm-l-34mm-wire-gau-525498
https://gastroparts.com/en/item/ball-o-11mm-ss-528419
https://gastroparts.com/en/item/knob-steam-o-54mm-shaft-o-8mm-black-for-111392
https://gastroparts.com/en/item/handle-thread-m10x1-5-o-27-5mm-l-38mm-bl-111393
https://gastroparts.com/en/item/handle-thread-m10x1-5-o-27-5mm-l-38mm-bl-111393


11Find the complete and up-to-date range of products on https://gastroparts.com

1

m
ec

ha
ni

ca
l c

om
po

ne
nt

s,
 

eq
ui

pm
en

t a
cc

es
so

rie
s

gaskets
O-rings

EPDM

1

Part No. 504512 Ref. No. 10812

description O-ring  EPDM thickness 1.78mm ID ø 14mm Qty 1 pcs

1

Part No. 532598 Ref. No. 10811

description O-ring  EPDM thickness 2mm ID ø 9.1mm Qty 1 pcs

silicone

1

Part No. 528222 Ref. No. 14409

description O-ring  silicone thickness 2.62mm ID ø 10.78mm Qty 1 pcs

Viton

1

Part No. 532571 Ref. No. 10809

description O-ring  Viton thickness 1.78mm ID ø 3.85mm Qty 1 pcs

1

Part No. 525899 Ref. No. 14414

description O-ring  Viton thickness 1.9mm ID ø 5.7mm Qty 1 pcs

1

Part No. 528525 Ref. No. 14439

description O-ring  Viton thickness 3.53mm ID ø 18.64mm Qty 1 pcs

NBR

1

Part No. 532597 Ref. No. 14405

description O-ring  NBR thickness 1.78mm ID ø 9.25mm Qty 1 pcs

sealing washers

copper gaskets

DIN-7603-A

1

Part No. 506226 Ref. No.
11004   
14203

description flat gasket  copper ED ø 15mm ID ø 10.5mm thickness 1mm Qty 1 pcs

1

Part No. 525889 Ref. No. 14401

description
flat gasket  copper ED ø 20mm ID ø 13.5mm thickness 1.6mm for 
thread 1/4“ Qty 1 pcs

DIN-7603-C

1

Part No. 528520 Ref. No. 14428

description gasket  copper ED ø 22mm ID ø 16mm thickness 2mm

1

Part No. 527164 Ref. No. 14400

description gasket  copper ED ø 23mm ID ø 17mm thickness 3mm for thread 3/8“

1

Part No. 526431 Ref. No. 14440

description
gasket  copper ED ø 26mm ID ø 21.5mm thickness 2.2mm for thread 
1/2“ Qty 1 pcs

LA-ROCCA GASKETS

https://gastroparts.com/en/item/o-ring-epdm-thickness-1-78mm-id-o-14mm-q-504512
https://gastroparts.com/en/item/o-ring-silicone-thickness-2-62mm-id-o-10-528222
https://gastroparts.com/en/item/o-ring-viton-thickness-1-78mm-id-o-3-85m-532571
https://gastroparts.com/en/item/o-ring-viton-thickness-1-9mm-id-o-5-7mm-525899
https://gastroparts.com/en/item/o-ring-viton-thickness-3-53mm-id-o-18-64-528525
https://gastroparts.com/en/item/flat-gasket-copper-d1-o-15mm-d2-o-10-5mm-506226
https://gastroparts.com/en/item/flat-gasket-copper-d1-o-20mm-d2-o-13-5mm-525889
https://gastroparts.com/en/item/gasket-copper-d1-o-22mm-d2-o-16mm-thickn-528520
https://gastroparts.com/en/item/gasket-copper-d1-o-23mm-d2-o-17mm-thickn-527164


12 Find the complete and up-to-date range of products on https://gastroparts.com

1

m
ec

ha
ni

ca
l c

om
po

ne
nt

s,
 

eq
ui

pm
en

t a
cc

es
so

rie
s

1

Part No. 525887 Ref. No. 14438

description gasket  copper ED ø 28mm ID ø 34mm thickness 3mm Qty 1 pcs

PTFE gaskets

1

Part No. 525609 Ref. No. 14410

description flat gasket  PTFE ED ø 18mm ID ø 13.5mm thickness 2mm Qty 1 pcs

1

Part No. 526679 Ref. No. 10825

description flat gasket  PTFE ED ø 18mm ID ø 13mm thickness 2mm Qty 1 pcs

1

Part No. 525890 Ref. No. 14428(alt)

description flat gasket  PTFE ED ø 22mm ID ø 16mm thickness 2mm Qty 1 pcs

1

Part No. 526013 Ref. No. 14432

description flat gasket  PTFE ED ø 22mm ID ø 17mm thickness 2mm Qty 1 pcs

1

Part No. 525891 Ref. No. 14465

description
flat gasket  PTFE ED ø 25mm ID ø 21.5mm thickness 2.5mm size 
1/2“ Qty 1 pcs

1

Part No. 528683 Ref. No. 14433

description
flat gasket  PTFE ED ø 26mm ID ø 21mm thickness 2mm Qty 1 pcs 
suitable for GAGGIA, SPAZIALE

1

Part No. 525888 Ref. No. 10206

description flat gasket  PTFE ED ø 47mm ID ø 38mm thickness 2mm Qty 1 pcs

special gaskets

group gaskets

1

Part No. 531012 Ref. No. 14427

description
gasket  L 71.5mm W 71.5mm thickness 2mm aperture 9.5mm hole 
distance 56mm suitable for LA ROCCA fibre

springs
compression springs

1

Part No. 531001 Ref. No. 11142

description
compression spring  ø 10.7mm L 25.5mm wire gauge ø 1.6mm 
windings 5

1

Part No. 525994 Ref. No. 11183

description
compression spring  ø 12mm L 21mm wire gauge ø 1.3mm windings 
3.5 steel

1

Part No. 531002 Ref. No. 10806

description
compression spring  ø 14.7mm L 26mm wire gauge ø 2mm windings 
3.5

1

Part No. 531000 Ref. No. 10814

description compression spring  ø 15mm L 26mm wire gauge ø 2mm

A

https://gastroparts.com/en/item/flat-gasket-ptfe-d1-o-18mm-d2-o-13-5mm-t-525609
https://gastroparts.com/en/item/flat-gasket-ptfe-d1-o-18mm-d2-o-13mm-thi-526679
https://gastroparts.com/en/item/flat-gasket-ptfe-d1-o-22mm-d2-o-17mm-thi-526013
https://gastroparts.com/en/item/flat-seal-ptfe-diameter-1-o-25mm-diamete-525891
https://gastroparts.com/en/item/flat-gasket-ptfe-d1-o-26mm-d2-o-21mm-thi-528683
https://gastroparts.com/en/item/flat-gasket-ptfe-d1-o-47mm-d2-o-38mm-thi-525888


13Find the complete and up-to-date range of products on https://gastroparts.com

1

m
ec

ha
ni

ca
l c

om
po

ne
nt

s,
 

eq
ui

pm
en

t a
cc

es
so

rie
s

1

Part No. 525499 Ref. No. 10815

description
compression spring  ø 8mm L 31.5mm wire gauge ø 0.5mm windings 
10

1

Part No. 525498 Ref. No. 10804

description
compression spring  ø 8mm L 34mm wire gauge ø 0.4mm windings 
10.5

1

Part No. 531017 Ref. No. 11325

description push switch  ø 8mm L 20mm wire gauge ø 0.8mm windings 4.5

manometers

1

Part No. 541771 Ref. No. 12164

description
manometer  double scale ø 58.5mm pressure range 0-2.5 / 0-16bar 
connection on the backside thread 1/8“

1

Part No. 541772 Ref. No. 13204

description
manometer  double scale ø 60mm pressure range 0-2.5 / 0-16bar 
connection on the backside thread 1/8“

1

Part No. 541775 Ref. No. 13247

description
manometer  ø 41mm pressure range 0-25bar thread 1/8“ connection 
on the backside

1

Part No. 541774 Ref. No. 13248

description
manometer  ø 41mm pressure range 0-3bar thread 1/8“ connection 
on the backside

1

Part No. 541773 Ref. No. 13211

description
manometer  ø 41mm pressure range 0-3bar thread 1/8“ marking 1.4 - 
1.6 connection on the backside

fastening material
screws

hexagonal screws

1

Part No. 560448 Ref. No. 14042

description
hexagonal screw  thread M5 thread L 8mm SS WS 8 Qty 1 pcs head 
thickness 4mm DIN 933 / ISO 4017

washers

washers

miscellaneous

1

Part No. 531021 Ref. No. 14219

description
plain washer  ID ø 7mm ED ø 11mm thickness 1mm stainless steel 
Qty 1 pcs

al

https://gastroparts.com/en/item/compression-spring-o-8mm-l-31-5mm-wire-g-525499
https://gastroparts.com/en/item/compression-spring-o-8mm-l-34mm-wire-gau-525498
https://gastroparts.com/en/item/compression-spring-length-20mm-dia-8mm-w-531017
https://gastroparts.com/en/item/pressure-gauge-with-double-scale-58-5mm-541771
https://gastroparts.com/en/item/hexagon-screw-m5-thread-length-8mm-ws8-s-560448
https://gastroparts.com/en/item/plain-washer-id-o-7mm-ed-o-11mm-thicknes-531021


GASTROPARTS.COM


